ISV
H, I
o ﬁf\f )
S 4\/\/
(®
A
K G

2w/ S—EB

b/ $—2B ST 1/ N "
” i i e
0O ke,
II\II\I\I IIHIIH _
| | | :
Trv b
o
o7 [ i
Q P
MR- fifsR
ISV TER
F—5'—No. No. waTEh A 0 B C  Dtoos E = F € H o J(@EEE)
15662 HL3514C 14 96 35 45 23 22 16 90 19 10.5 :M10xX1.5
15663 HL3516C 16 96 35 45 23 22 16 90 19 10.5 M10X1.5
15664 HL3518C 18 96 35 45 23 22 16 90 19 10.5 :M10X1.5
TROvhFwh
No. K L M N O : : BEkg A&
P Q R S T
HL3514C 8 3 27 4 8 44 22 8.5 16 13.5 0.7 23,400
HL3516C 8 3 27 4 8 44 25 8.5 16 15.5 0.7 23,600
HL3518C 8 3 27 4 8 44 28 11.0 19 17.5 0.7 23,700
Ay /S—Ef
ZF—5—No. No. BATEN a : b c d+0.005 e f g h
15665 HL3514S 14 69 35 40 23 17 54 22 16
15666 HL3516S 16 69 35 40 23 17 54 22 16
15667 HL3518S 18 69 35 40 23 17 54 22 16
i , . . TROvAFwh -

No- @) ] o T T r T s o HE fits
HL3514S | M12X1.75 7.5 4 10 44 22 8.5 16 13.5 1.1 15,300
HL3516S | M12X1.75 7.5 4 10 44 25 8.5 16 15.0 1.1 15,700
HL3518S | M12X1.75 7.5 4 10 44 28 11.0 19 17.5 1.1 15,900

M—LR—IT CAD F—9DIIVO—REEERBRNTEE T,

AN

R
L

W

-

NANVN

N=ZATUAVKN




	F214J_0199

